
ELEV=81.15'
TOS

SLOPED C10x15.3

C7x9.8 (TYP OF 3)

3/8"x2-3/4" FULL
DEPTH STIFFENER

(2) 3/4" DIA A325N BOLTS
W/ 12" GAGE (TYP EA END)

3/4"x9-1/2"x1'-3"
STL CAP PLATE

8" DIA STD WT STL
PIPE COLUMN

1 1/2" (TYP)

1/4

1 1/4"
3"

1 1/4"

1 1/2" (TYP)

1/2" SETBACK (TYP) 1-1/2"x18GA GALV
STL ROOF DECK (TYP)

1 1/2"

1' - 2"

W12x45

3/8"x4"x5-1/2"
STL PLATE W/
HORIZ SHORT
SLOTTED HOLES

(2) 3/4" DIA
A325N BOLTS

W10x30 (SLOPED)

1/4

3/16
(TYP EA
SIDE)

3/16
(TYP)

NOTE:
COPE W12x45 AS REQUIRED.

ELEV=81.32'
TOS

ELEV=81.15'
TOS

(81.32' @
OPP BM)

SEE CONN SCHEDULE

W10x30

8" DIA STD WT STL
PIPE COLUMN

WT4x20, 1'-0 1/8" LONG

1" THERMAL BREAK PLATE

2" DIA THERMAL BREAK
WASHER (TYP EA SIDE)

1-1/16" DIA THERMAL BREAK
BUSHING (TYP)

1/4
(WT TO
COL)

1' - 2"

8 1/2"3 1/2"2"
1-1/2"x18GA GALV
STL ROOF DECK (TYP)

W12x45

SLOPED W10x15 (TYP)

1/2"x1'-0 1/8"x8-1/8" STL PLATE 

3
SF506

1 1/2" (TYP)

(4) 3/4" DIA 325N BOLTS 
W/ 5-1/8" GAGE

ELEV=81.32'
TOS

(TYP
TOP AND
BOTTOM
FLANGE)

1 1/4"
3"

1 1/4"

1 1/2" (TYP)

1/2" SETBACK (TYP)

1/4
(TYP EA

SIDE)

SLOPED W10x15

3/8"x4"x5-1/2"
STL PLATE W/
HORIZ SHORT
SLOTTED HOLES

(2) 3/4" DIA
A325N BOLTS

1/4
(TYP)

W12x45

W10x15

CONT MC10x8.4

1-1/2"x18GA GALV
STL ROOF DECK (TYP)

SLOPE

1 1/4"
3"

1 1/4"

1 1/2" (TYP)

1/2" SETBACK (TYP)

3/8"x4"x5-1/2"
STL PLATE W/
HORIZ SHORT
SLOTTED HOLES

(2) 3/4" DIA
A325N BOLTS

3231

1' - 0 1/4" 2' - 9"

ELEV=78.58'
TOS

HSS 6x4x1/4

HSS 4x4x1/4

1/4" FLUSH WELDED
STL COL CAP PLATE

1/4
(TYP)

HSS 6x4x1/4

1-1/2"x18GA GALV
STL ROOF DECK (TYP)

32

7 1/2"

ELEV=78.58'
TOS

HSS 4x4x1/4

1-1/2"x18GA GALV
STL ROOF DECK (TYP)

HSS 6x4x1/4

FACE OF ADJACENT
EXT WALL (TYP)

1/4
(TYP, EA
HSS)

HSS 6x4x1/4

33

ELEV=83.00'
TOS

ELEV=78.58'
TOS

SKEWED W12x26

(2) 3/4" DIA A325N BOLTS
W/ 9" GAGE (TOTAL OF
4 BOLTS)

3/4"x6-1/2"x1'-0"
STL PLATE

HSS 4x4x1/4

1/4

1/4
(HSS 6x4x1/4
TO HSS 6x4x1/4)

1/4
(HSS 6x4x1/4
TO HSS 6x4x1/4)

4" 2"HSS 6x4x1/4 (TYP)

FACE OF
ADJACENT WALL

1/4" FLUSH WELDED
STL CAP PLATE

NOTE:
STEEL ROOF DECK
NOT SHOWN FOR CLARITY.

1 1/2" (TYP)

35
8 7/8"8 3/4"

ELEV=78.58'
TOS

1-1/2"x18GA GALV
STL ROOF DECK (TYP)

HSS 6x4x1/4

WT4x9, 7" LONG 3/8"x4-1/2"x6" STL PLATE
W/ HORIZ SHORT SLOTTED
HOLES

(2) 3/4" DIA A325N
BOLTS (TYP)

6" DIA STD WT STL 
PIPE COL

6"

1/4

1/4

1 1/2"
3"
1 1/2"

1 1/2" (TYP)

4" DIA STD WT STL
PIPE COL

WT3x10, 1'-0" LONG

(4) 3/4" DIA A325N
BOLTS W/ 3" GAGE (TYP)

1" THERMAL BREAK PLATE

1-1/16" DIA THERMAL BREAK
BUSHING (TYP)

2" DIA THERMAL BREAK
WASHER (TYP)

3/8"x1'-0"x6" STL PLATEELEV=78.58'
TOS

1-1/2"x18GA GALV
STL ROOF DECK (TYP)

HSS 6x4x1/4

HSS 6x4x1/4
(SKEWED)

ARCH WALL SYS (SKEWED)1/4

1/4

1/4
(HSS 6x4x1/4
TO HSS 6x4x1/4)

1 
1/

2"
 (T

YP
)

1.2

2"

ELEV=78.58'
TOS

1/4

(2) 3/4" DIA
A325N BOLTS (TYP)

HSS 6x4x1/4

WT5x7.5, 6" LONG W/
HORIZ SHORT SLOTTED HOLES

HSS 6x4x1/4
(CONN IS SIM
TO PERPENDICULAR
CONN)

HSS 4x4x1/4

NOTE:
STEEL ROOF DECK NOT
SHOWN FOR CLARITY.

3" 3"

1 1/2"
3"

1 1/2"

ELEV=78.58'
TOS

3/16 2" AT
12"

1/4

1/2" SETBACK (TYP)

HSS 6x4x1/4 (TYP)

CONT     1-1/2x1-1/2x1/4 
(TYP)

1-1/2"x18GA GALV STL
ROOF DECK (TYP)

ELEV=78.08'
TOP OF BP

8" REINF CMU
WALL (TYP)

FILL 8"x12" BONDOUT
W/ SPRAY FOAM INSUL (TYP)

1/4" FLUSH WELDED STL
CAP PLATE

1/4"x4"x8" STL BEARING
PLATE W/ (2) 1/2" DIA x
4" LONG HEADED STUDS
W/ 5" GAGE (TYP)

GROUT CELLS BELOW
BP SOLID (TYP)

ZZ
7 3/4" 10 1/4"

6"

1"x1'-0"x1'-4" STL PLATE

1" THERMAL BREAK PLATE

3/4"x1'-0"x10" STL PLATE

(4) 3/4" DIA A325N BOLTS 
W/ 1'-1" GAGE (TYP)

HSS 6x4x1/4

2" DIA THERMAL BREAK
WASHERS (TYP)

1-1/16" DIA THERMAL BREAK
BUSHINGS (TYP)

ELEV=78.58'
TOS

1/4

3/16(PLATE
TO PLATE)

1/4
(PLATE TO
COL FLANGE)

3/8"x7-3/8" FULL DEPTH
STIFFENER PLATES

3/16
(PLATE TO
COL (3 SIDES))

W14x145

1 
1/

2"
 (T

YP
)

55

1' - 6"

5 7/8"

ELEV=78.58'
TOS

3/4"x1'-0"x10" STL PLATE

1" THERMAL BREAK PLATE

3/4"x1'-0"x10" STL PLATE

(4) 3/4" DIA A325N BOLTS W/
7" GAGE (TYP)

HSS 6x4x1/4

2" DIA THERMAL BREAK
WASHERS (TYP)

1-1/16" DIA THERMAL BREAK
BUSHINGS (TYP)

3/16 2" AT
12"

1/4
(TYP)

HSS 6x4x1/4 (TYP)

CONT     1-1/2x1-1/2x1/4 
(TYP)

1-1/2"x18GA GALV STL
ROOF DECK (TYP)

1/2" SETBACK (TYP)

HSS 6x6x3/8

1/4
(HSS TO

HSS)

1 
1/

2"
 (T

YP
)

65

1' - 6"

8"

3"

4 1/8"

2 7/8"

3 3/8"

1/2" SETBACK

3' - 11"

6 3/4" 2 7/8"6 1/4"

45°

1 3/8"
2 3/4"

ELEV=78.58'
TOS

2"

2"
2"

2"

2 1/2"

5 1/2"

ELEV=81.60'
TOS

1/4
(TYP)

1 
1/

2"
 (T

YP
)

HSS 4x4x1/4 (TYP)

STL ROOF DECK (TYP)

(4) 3/4" DIA A325N BOLTS 
W/ 7" GAGE (TYP)

3/4"x10"x10" STL PLATE (TYP)

1" THERMAL 
BREAK PLATE 

2" DIA THERMAL BREAK
WASHERS (TYP)
1-1/16" DIA THERMAL BREAK
BUSHINGS (TYP)

3/16
(TYP)

STL ROOF BEAM (TYP)

3/8"x2-1/2" FULL DEPTH STIFFENER
PLATES ALIGNED W/ HSS 4x4x1/4 ABOVE
(TYP EA SIDE)

1 1/2" (TYP)

(4) 3/4" DIA A325N BOLTS
W/ 9" GAGE (TYP)

3/4"x7"x1'-0" STL PLATE (TYP)

2" DIA THERMAL BREAK
WASHERS (TYP)

1-1/16" DIA THERMAL BREAK
BUSHINGS (TYP)

(PLATE TO
HSS)

1" THERMAL BREAK PLATE 

HSS 4x4x1/4 

3/8"x10"x10" GALV STL PLATE

3/8"x5-7/8"x10" GALV STL PLATE

1/4
(GRIND

SMOOTH)

1-3/8" DIA GALV STL ROD 
W/ THREADED ENDS (TYP)

3/16 2" AT
12"

(ANGLE
TO HSS)1/4

(TYP
HSS TO

HSS)

HSS 6x4x1/4 (TYP)

CONT     1-1/2x1-1/2x1/4 
(TYP EA SIDE)

1-1/2"x18GA 
GALV STL ROOF 
DECK (TYP)

No. 3 GALV STL
CLEVIS AND PIN
(TYP EA END)

3/8"x6-7/8"x9-5/8"
GALV STL PLATE

1/4
(PLATE

TO HSS)

GALV HSS 4x4x1/4

5 1/2"

3/8" STL PLATE

3/4" DIA A325N
BOLT (TYP)

VERT LONG SLOTTED HOLE IN HSS
AND STL PLATE

.1-1/2"

NOTE:
PROVIDE 5/16" WASHERS AT
VERTICAL SLOTTED HOLE.

STATE OF MAINE
PUBLIC SCHOOL PROJECT

TITLE

LOCATION

TITLE THIS DWG.

DRAWING NO.

SHEET NO.

OF

DRAWN BY:

CHECK BY:

NO.

DATEREVISIONS
NO. DATE DESCRIPTION BY

PORTLAND PUBLIC SCHOOLS
NEW FRED P. HALL ELEMENTARY SCHOOL

03/17/17 312231 Main Street, Biddeford, Maine 04005 207.283.0193

23 ORONO ROAD, PORTLAND, ME

C:\Users\nick\Documents\21602.08_HALL SCHOOL_STRUCTURE_V17_ndefries.rvt
3/17/2017 2:26:39 PM

SF506

STRUCTURAL DETAILS 6

MJC

DNM

113

8" 1'04"
1-1/2"=1'-0"

1'

GRAPHIC SCALE

CHECK GRAPHIC SCALE BEFORE USING

SCALE:SF506  1 1/2" = 1'-0"
1 TYP W12x45 TO 8" DIA STD WT PIPE DETAIL

SF402, SF602
SCALE:SF506  1 1/2" = 1'-0"

2 TYP W12x45 TO 8" DIA STD WT PIPE THERMAL BREAK DETAIL
SF402

SCALE:SF506  1 1/2" = 1'-0"
3 TYP W10x15 TO W12x45 CONN DETAIL

SF104, SF402
SCALE:SF506  1 1/2" = 1'-0"

4 TYP HSS 6x4x1/4 TO HSS 4x4x1/4 CANOPY COLUMN DETAIL
SF402

SCALE:SF506  1 1/2" = 1'-0"
5 TYP HSS 6x4x1/4 TO HSS 4x4x1/4 BLDG COL DETAIL

SF402

SCALE:SF506  1 1/2" = 1'-0"
9 TYP HSS 4x4x1/4 HANGER DETAIL

SF402

SCALE:SF506  1 1/2" = 1'-0"
6 TYP HSS 6x4x1/4 TO 6" DIA STD WT PIPE CONN DETAIL

SF402
SCALE:SF506  1 1/2" = 1'-0"

7 TYP HSS 6x4x1/4 TO 4" DIA STD WT PIPE CONN DETAIL
SF401, SF402

SCALE:SF506  1 1/2" = 1'-0"
8 TYP HSS 6x4x1/4 TO HSS 4x4x1/4 CONN DETAIL

SF401

SCALE:SF506  1 1/2" = 1'-0"
10 TYP HSS 6x4x1/4 BEAM BEARING PLATE DETAIL

SF203, SF401
SCALE:SF506  1 1/2" = 1'-0"

11 TYP HSS 6x4x1/4 TO W14x45 CONN DETAIL
SF401

SCALE:SF506  1 1/2" = 1'-0"
12 TYP HSS 6x4x1/4 TO HSS 6x6x3/8 CONN DETAIL

SF401, SF402

SCALE:SF506  1 1/2" = 1'-0"
13 TYP CANOPY W/ THREADED ROD SUPPORT DETAIL

SF401, SF402


	Sheets
	S-001 - STRUCTURAL NOTES
	S-002 - STRUCTURAL DESIGN LOADS AND ABBREVIATIONS
	S-003 - WALL COMPONENT AND CLADDING WIND PRESSURES PLAN
	S-004 - ROOF WIND PRESSURES PLAN
	S-005 - ROOF SNOW DRIFT PLAN
	S-006 - OVERALL COLUMN GRID
	SB001 - FOOTING SCHEDULES AND DETAILS
	SB101 - FOUNDATION PART PLAN - WING A
	SB102 - FOUNDATION PART PLAN - WING B
	SB103 - FOUNDATION PART PLAN - WING C
	SB104 - FOUNDATION CONTROL JOINT PLAN AND DETAILS
	SB401 - ENLARGED MAT PLANS 1
	SB402 - ENLARGED MAT PLANS 2
	SB403 - ENLARGED PARTIAL FOUNDATION PLAN AND DETAILS
	SB404 - ENLARGED PIER PLANS 1
	SB405 - ENLARGED PIER PLANS 2
	SB406 - ENLARGED PIER PLANS 3
	SB501 - FOUNDATION DETAILS 1
	SB502 - FOUNDATION DETAILS 2
	SD101 - FOUNDATION REMOVALS PLAN PART C - PHASE 1C
	SD102 - FOUNDATION REMOVALS PLAN PART A - PHASE 2B
	SD103 - FOUNDATION REMOVALS PLAN PART B - PHASE 2B
	SD104 - FOUNDATION REMOVALS PLAN PART D - PHASE 2B
	SD105 - FIRST FLOOR FRAMING REMOVALS PLAN PART C - PHASE 1C
	SD106 - FIRST FLOOR FRAMING REMOVALS PLAN PART A - PHASE 2B
	SD107 - FIRST FLOOR FRAMING REMOVALS PLAN PART B - PHASE 2B
	SD108 - FIRST FLOOR FRAMING REMOVALS PLAN PART D - PHASE 2B
	SD109 - ROOF FRAMING REMOVALS PLAN PART C - PHASE 1C
	SD110 - ROOF FRAMING REMOVALS PLAN PART A - PHASE 2B
	SD111 - ROOF FRAMING REMOVALS PLAN PART B - PHASE 2B
	SD112 - ROOF FRAMING REMOVALS PLAN PART D - PHASE 2B
	SF101 - PARTIAL SECOND FLOOR FRAMING PLAN
	SF102 - PARTIAL SECOND FLOOR/LOW ROOF FRAMING PLAN
	SF103 - PARTIAL ROOF FRAMING PLAN
	SF104 - PARTIAL LOW ROOF FRAMING PLAN
	SF105 - GYM ROOF, CAFETERIA ROOF, AND CLERESTORY ROOF FRAMING PLANS
	SF201 - BRACED FRAME ELEVATIONS 1
	SF202 - BRACED FRAME ELEVATIONS 2
	SF203 - MASONRY WALL ELEVATIONS 1
	SF204 - MASONRY WALL ELEVATIONS 2
	SF401 - ENLARGED CANOPY PLANS 1
	SF402 - ENLARGED CANOPY PLANS 2
	SF403 - TRUSS 1 PROFILE AND DETAILS
	SF501 - STRUCTURAL DETAILS 1
	SF502 - STRUCTURAL DETAILS 2
	SF503 - STRUCTURAL DETAILS 3
	SF504 - STRUCTURAL DETAILS 4
	SF505 - STRUCTURAL DETAILS 5
	SF506 - STRUCTURAL DETAILS 6
	SF507 - STRUCTURAL DETAILS 7
	SF601 - ROOF DIAPHRAGM PLAN AND SCHEDULE
	SF602 - COLUMN SCHEDULE 1
	SF603 - COLUMN SCHEDULE 2
	SF604 - COLUMN BASE PLATE SCHEDULES AND DETAILS
	SF605 - CONNECTION SCHEDULES AND DETAILS
	SF606 - MOMENT FRAME CONNECTION SCHEDULE AND DETAILS
	SF607 - SEISMIC COLLECTOR CONNECTION SCHEDULE AND DETAILS
	SF608 - ROOF JOIST PROFILES
	ST201 - TEMPORARY SHEAR WALL ELEVATION - PHASE 1C


